## **BID TAB**

PROJECT: 2020 ANNUAL RESURFACING PROJECT, PHASE 1

BID OPEN: MARCH 12, 2020

COMPLETION DATE: SEPTEMBER 30, 2020

									STRUCTION CO. WELL ST DH 44035	GERKEN PAVING, INC. 9072 CR 424 NAPOLEON, OH 43545	
REF. NO.	ITEM NO.	DESCRIPTION	ESTIMATED QUANTITY	UNIT	_	NIT RICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
		CORDUROY ROAD									
100	202	WEARING COURSE REMOVED	20	SY	\$	20.00	\$ 400.00	\$0.70	\$14.00	\$20.00	\$400.00
101	203	EMBANKMENT, AS PER PLAN	175	CY	\$	90.00	\$ 15,750.00	\$87.50	\$15,312.50	\$95.00	\$16,625.00
102	204	PROOF ROLLING	2	HOUR	\$	150.00	\$ 300.00	\$50.00	\$100.00	\$95.00	\$190.00
103	204	EXCAVATION OF SUBGRADE	15	CY	\$	40.00	\$ 600.00	\$50.00	\$750.00	\$40.00	\$600.00
104	204	GRANULAR MATERIAL, TYPE C	15	CY	\$	60.00	\$ 900.00	\$30.00	\$450.00	\$45.00	\$675.00
105	253	PAVEMENT REPAIR (12"-301 ASPHALT CONCRETE BASE, PG 64-22)	90	SY	\$	125.00	\$ 11,250.00	\$190.00	\$17,100.00	\$38.00	\$3,420.00
106	254	PAVEMENT PLANING, ASPHALT CONCRETE	16,188	SY	\$	1.50	\$ 24,282.00	\$1.15	\$18,616.20	\$1.10	\$17,806.80
107	407	TACK COAT	2,297	GAL	\$	2.25	\$ 5,168.25	\$2.20	\$5,053.40	\$2.20	\$5,053.40
108	410	TRAFFIC COMPACTED SURFACE, TYPE A OR B	5	CY	\$	60.00	\$ 300.00	\$30.00	\$150.00	\$75.00	\$375.00
109	411	STABILIZED CRUSHED AGGREGATE	3	CY	\$	150.00	\$ 450.00	\$150.00	\$450.00	\$75.00	\$225.00
110	441	ASPHALT CONCRETE INTERMEDIATE COURSE, TYPE 2, (448)	826	CY	\$	148.00	\$ 122,248.00	\$126.00	\$104,076.00	\$142.00	\$117,292.00
111	441	ASPHALT CONCRETE SURFACE COURSE, TYPE 1, (448) PG 64-22	574	CY	\$	165.00	\$ 94,710.00	\$140.00	\$80,360.00	\$158.00	\$90,692.00
112	614	MAINTAINING TRAFFIC	1	LS	\$ 1	15,000.00	\$ 15,000.00	\$17,560.00	\$17,560.00	\$9,000.00	\$9,000.00
113	614	WORK ZONE MARKING SIGN, AS PER PLAN	4	EACH	\$	125.00	\$ 500.00	\$125.00	\$500.00	\$110.00	\$440.00
114	614	ASPHALT CONCRETE FOR MAINTAINING TRAFFIC	2	CY	\$	300.00	\$ 600.00	\$150.00	\$300.00	\$650.00	\$1,300.00
115	614	WORK ZONE CENTER LINE, CLASS II, 642 PAINT (ON PLANED SURFACE)	0.98	MILE	\$	800.00	\$ 784.00	\$400.00	\$392.00	\$2,000.00	\$1,960.00
116	617	COMPACTED AGGREGATE	10	CY	\$	150.00	\$ 1,500.00	\$60.00	\$600.00	\$70.00	\$700.00
117	621	RAISED PAVEMENT MARKER REMOVED	60	EACH	\$	20.00	\$ 1,200.00	\$13.00	\$780.00	\$16.50	\$990.00

							KOKOSING CONS 1539 LOV ELYRIA, O	WELL ST	9072 CR 424 NAPOLEON, OH 43545	
REF. NO.	ITEM NO.	DESCRIPTION	ESTIMATED QUANTITY	UNIT	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
118	623	MONUMENT ASSEMBLY, TYPE 1 OR TYPE 2	2	EACH	\$ 1,000.00	\$ 2,000.00	\$1,000.00	\$2,000.00	\$1,200.00	\$2,400.00
119	624	MOBILIZATION	1	LS	\$ 10,000.00	\$ 10,000.00	\$7,500.00	\$7,500.00	\$10,000.00	\$10,000.00
120	630	REMOVAL, STORAGE, OR RE-ERECTION OF SIGNS AND SUPPORTS	1	LS	\$ 500.00	\$ 500.00	\$950.00	\$950.00	\$180.00	\$180.00
121	642	EDGE LINE, 4", TYPE 1	1.97	MILE	\$ 900.00	\$ 1,773.00	\$800.00	\$1,576.00	\$800.00	\$1,576.00
122	642	CENTER LINE, TYPE 1	0.98	MILE	\$ 1,200.00	\$ 1,176.00	\$1,200.00	\$1,176.00	\$1,200.00	\$1,176.00
123	659	SEEDING AND MULCHING, AS PER PLAN	3,152	SY	\$ 1.50	\$ 4,728.00	\$2.00	\$6,304.00	\$2.00	\$6,304.00
124	659	COMMERCIAL FERTILIZER	0.32	TON	\$ 1,000.00	\$ 320.00	\$600.00	\$192.00	\$600.00	\$192.00
125	659	REPAIR SEEDING AND MULCHING, AS PER PLAN	500	SY	\$ 3.00	\$ 1,500.00	\$2.00	\$1,000.00	\$2.00	\$1,000.00
126	659	WATER	17	MGAL	\$ 25.00	\$ 425.00	\$1.00	\$17.00	\$1.00	\$17.00
127	SPEC	THINLAY ASPHALT CONCRETE, TYPE MED (DRIVEWAYS)	13	CY	\$ 750.00	\$ 9,750.00	\$615.00	\$7,995.00	\$1,500.00	\$19,500.00
128	SPEC	MAILBOX SUPPORT, TYPE 1 OR TYPE 2	10	EACH	\$ 150.00	\$ 1,500.00	\$250.00	\$2,500.00	\$160.00	\$1,600.00
		CORDUROY ROAD TOTAL:				\$ 329,614.25		\$293,774.10		\$311,689.20
		DECANT ROAD								
200	202	PAVEMENT REMOVED	10	SY	\$ 30.00	\$ 300.00	\$85.00	\$850.00	\$35.00	\$350.00
201	202	WEARING COURSE REMOVED	20	SY	\$ 20.00	\$ 400.00	\$1.15	\$23.00	\$20.00	\$400.00
202	203	EMBANKMENT, AS PER PLAN	20	CY	\$ 90.00	\$ 1,800.00	\$120.00	\$2,400.00	\$95.00	\$1,900.00
203	204	SUBGRADE COMPACTION	10	SY	\$ 10.00	\$ 100.00	\$6.00	\$60.00	\$8.00	\$80.00
204	204	EXCAVATION OF SUBGRADE	20	CY	\$ 40.00	\$ 800.00	\$50.00	\$1,000.00	\$40.00	\$800.00
205	204	GRANULAR MATERIAL, TYPE C	20	CY	\$ 60.00	\$ 1,200.00	\$30.00	\$600.00	\$45.00	\$900.00
206	204	PROOF ROLLING	2	HOUR	\$ 150.00	\$ 300.00	\$50.00	\$100.00	\$95.00	\$190.00
207	209	PREPARING SUBGRADE FOR SHOULDER PAVING	1.02	MILE	\$ 1,500.00	\$ 1,530.00	\$600.00	\$612.00	\$2,000.00	\$2,040.00

							KOKOSING CONS 1539 LOV ELYRIA, C	WELL ST	9072 CR 424 NAPOLEON, OH 43545		
REF. NO.	ITEM NO.	DESCRIPTION	ESTIMATED QUANTITY	UNIT	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	
208	253	PAVEMENT REPAIR (6" - 301 ASPHALT CONC. BASE, PG 64-22)	1,095	SY	\$ 45.00	\$ 49,275.00	\$30.00	\$32,850.00	\$38.00	\$41,610.00	
209	254	PAVEMENT PLANING, ASPHALT CONCRETE	5,897	SY	\$ 1.50	\$ 8,845.50	\$1.40	\$8,255.80	\$1.10	\$6,486.70	
210	407	TACK COAT	786	GAL	\$ 2.25	\$ 1,768.50	\$2.20	\$1,729.20	\$2.20	\$1,729.20	
211	410	TRAFFIC COMPACTED SURFACE, TYPE A OR B	5	CY	\$ 60.00	\$ 300.00	\$30.00	\$150.00	\$75.00	\$375.00	
212	411	STABILIZED CRUSHED AGGREGATE	12	CY	\$ 100.00	\$ 1,200.00	\$85.00	\$1,020.00	\$75.00	\$900.00	
213	441	ASPHALT CONCRETE INTERMEDIATE COURSE, TYPE 2, (448)	285	CY	\$ 148.00	\$ 42,180.00	\$134.00	\$38,190.00	\$142.00	\$40,470.00	
214	441	ASPHALT CONCRETE SURFACE COURSE, TYPE 1, (448) PG 64-22	217	CY	\$ 165.00	\$ 35,805.00	\$160.00	\$34,720.00	\$158.00	\$34,286.00	
215	452	6" NON-REINFORCED CONCRETE PAVEMENT, CLASS QC MS	10	SY	\$ 150.00	\$ 1,500.00	\$180.00	\$1,800.00	\$131.00	\$1,310.00	
216	614	MAINTAINING TRAFFIC	1	LS	\$ 8,000.00	\$ 8,000.00	\$12,000.00	\$12,000.00	\$9,000.00	\$9,000.00	
217	614	WORK ZONE MARKING SIGN, AS PER PLAN	4	EACH	\$ 125.00	\$ 500.00	\$125.00	\$500.00	\$110.00	\$440.00	
218	614	ASPHALT CONCRETE FOR MAINTAINING TRAFFIC	2	CY	\$300.00	\$ 600.00	\$150.00	\$300.00	\$650.00	\$1,300.00	
219	614	WORK ZONE CENTER LINE, CLASS II, 642 PAINT (ON PLANED SURFACE)	0.51	MILE	\$1,200.00	\$ 612.00	\$400.00	\$204.00	\$2,000.00	\$1,020.00	
220	617	COMPACTED AGGREGATE	120	CY	\$75.00	\$ 9,000.00	\$60.00	\$7,200.00	\$70.00	\$8,400.00	
221	623	MONUMENT ASSEMBLY, TYPE 1 OR TYPE 2	1	EACH	\$1,000.00	\$ 1,000.00	\$1,000.00	\$1,000.00	\$1,200.00	\$1,200.00	
222	624	MOBILIZATION	1	LS	\$4,000.00	\$ 4,000.00	\$7,500.00	\$7,500.00	\$10,000.00	\$10,000.00	
223	630	REMOVAL, STORAGE, OR RE-ERECTION OF SIGNS AND SUPPORTS	1	LS	\$500.00	\$ 500.00	\$950.00	\$950.00	\$180.00	\$180.00	
224	642	EDGE LINE, 4", TYPE 1	1.02	MILE	\$900.00	\$ 918.00	\$800.00	\$816.00	\$800.00	\$816.00	
225	642	CENTER LINE, TYPE 1	0.51	MILE	\$1,200.00	\$ 612.00	\$1,200.00	\$612.00	\$1,200.00	\$612.00	
226	659	SEEDING AND MULCHING, AS PER PLAN	200	SY	\$5.00	\$ 1,000.00	\$2.00	\$400.00	\$2.00	\$400.00	
227	659	COMMERCIAL FERTILIZER	0.02	TON	\$1,000.00	\$ 20.00	\$600.00	\$12.00	\$600.00	\$12.00	
228	659	REPAIR SEEDING AND MULCHING, AS PER PLAN	50	SY	\$10.00	\$ 500.00	\$2.00	\$100.00	\$2.00	\$100.00	
229	659	WATER	1	MGAL	\$50.00	\$ 50.00	\$1.00	\$1.00	\$1.00	\$1.00	
230	SPEC	THINLAY ASPHALT CONCRETE, TYPE MED (DRIVEWAYS)	3	CY	\$750.00	\$ 2,250.00	\$1,700.00	\$5,100.00	\$1,500.00	\$4,500.00	

							KOKOSING CON 1539 LO ELYRIA, C	WELL ST	9072 CR 424 NAPOLEON, OH 43545		
REF. NO.	NO.	DESCRIPTION	ESTIMATED QUANTITY	UNIT	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	
231	SPEC	MAILBOX SUPPORT, TYPE 1 OR TYPE 2	5	EACH	\$150.00	\$ 750.00	\$250.00	\$1,250.00	\$160.00	\$800.00	
		DECANT ROAD TOTAL:				\$ 177,616.00		\$162,305.00		\$172,607.90	
		NORTH CURTICE ROAD									
300	202	PAVEMENT REMOVED	18	SY	\$30.00	\$ 540.00	\$80.00	\$1,440.00	\$35.00	\$630.00	
301	202	WEARING COURSE REMOVED	112	SY	\$20.00	\$ 2,240.00	\$10.00	\$1,120.00	\$20.00	\$2,240.00	
302	202	MONUMENT BOX REMOVED	1	EACH	\$250.00	\$ 250.00	\$325.70	\$325.70	\$300.00	\$300.00	
303	203	EMBANKMENT, AS PER PLAN	65	CY	\$90.00	\$ 5,850.00	\$110.00	\$7,150.00	\$95.00	\$6,175.00	
304	204	SUBGRADE COMPACTION	18	SY	\$10.00	\$ 180.00	\$6.00	\$108.00	\$8.00	\$144.00	
305	204	EXCAVATION OF SUBGRADE	15	CY	\$40.00	\$ 600.00	\$50.00	\$750.00	\$40.00	\$600.00	
306	204	GRANULAR MATERIAL, TYPE C	15	CY	\$60.00	\$ 900.00	\$30.00	\$450.00	\$45.00	\$675.00	
307	204	PROOF ROLLING	2	HOUR	\$150.00	\$ 300.00	\$50.00	\$100.00	\$95.00	\$190.00	
308	253	PAVEMENT REPAIR (6" - 301 ASPHALT CONC. BASE, PG 64-22)	180	SY	\$45.00	\$ 8,100.00	\$84.00	\$15,120.00	\$38.00	\$6,840.00	
309	254	PAVEMENT PLANING, ASPHALT CONCRETE	21,152	SY	\$1.50	\$ 31,728.00	\$1.15	\$24,324.80	\$1.10	\$23,267.20	
310	407	TACK COAT	2,975	GAL	\$2.25	\$ 6,693.75	\$2.20	\$6,545.00	\$2.20	\$6,545.00	
311	410	TRAFFIC COMPACTED SURFACE, TYPE A OR B	5	CY	\$60.00	\$ 300.00	\$30.00	\$150.00	\$75.00	\$375.00	
312	411	STABILIZED CRUSHED AGGREGATE	5	CY	\$150.00	\$ 750.00	\$150.00	\$750.00	\$75.00	\$375.00	
313	441	ASPHALT CONCRETE INTERMEDIATE COURSE, TYPE 2, (448)	1,080	CY	\$148.00	\$ 159,840.00	\$122.00	\$131,760.00	\$142.00	\$153,360.00	
314	441	ASPHALT CONCRETE SURFACE COURSE, TYPE 1, (448) PG 64-22	749	CY	\$165.00	\$ 123,585.00	\$144.00	\$107,856.00	\$158.00	\$118,342.00	
315	452	6" NON-REINFORCED CONCRETE PAVEMENT, CLASS QC MS	18	SY	\$150.00	\$ 2,700.00	\$143.00	\$2,574.00	\$131.00	\$2,358.00	
316	611	MANHOLE ADJUSTED TO GRADE	7	EACH	\$1,000.00	\$ 7,000.00	\$600.00	\$4,200.00	\$1,150.00	\$8,050.00	
317	614	MAINTAINING TRAFFIC	1	LS	\$15,000.00	\$ 15,000.00	\$19,000.00	\$19,000.00	\$9,000.00	\$9,000.00	

							KOKOSING CONS 1539 LOV ELYRIA, O	WELL ST	GERKEN PAN 9072 CI NAPOLEON,	R 424
REF. NO.	ITEM NO.	DESCRIPTION	ESTIMATED QUANTITY	UNIT	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
318	614	WORK ZONE MARKING SIGN, AS PER PLAN	4	EACH	\$125.00	\$ 500.00	\$125.00	\$500.00	\$110.00	\$440.00
319	614	ASPHALT CONCRETE FOR MAINTAINING TRAFFIC	2	CY	\$300.00	\$ 600.00	\$150.00	\$300.00	\$650.00	\$1,300.00
320	614	WORK ZONE CENTER LINE, CLASS II, 642 PAINT (ON PLANED SURFACE)	0.99	MILE	\$800.00	\$ 792.00	\$400.00	\$396.00	\$2,000.00	\$1,980.00
321	617	COMPACTED AGGREGATE	122	CY	\$75.00	\$ 9,150.00	\$60.00	\$7,320.00	\$70.00	\$8,540.00
322	621	RAISED PAVEMENT MARKER REMOVED	68	EACH	\$20.00	\$ 1,360.00	\$13.00	\$884.00	\$16.50	\$1,122.00
323	623	MONUMENT ASSEMBLY, TYPE 1 OR TYPE 2	1	EACH	\$1,000.00	\$ 1,000.00	\$1,000.00	\$1,000.00	\$1,200.00	\$1,200.00
324	624	MOBILIZATION	1	LS	\$10,000.00	\$ 10,000.00	\$7,500.00	\$7,500.00	\$10,000.00	\$10,000.00
325	630	REMOVAL, STORAGE, OR RE-ERECTION OF SIGNS AND SUPPORTS	1	LS	\$500.00	\$ 500.00	\$950.00	\$950.00	\$190.00	\$190.00
326	638	VALVE BOX ADJUSTED TO GRADE	1	EACH	\$500.00	\$ 500.00	\$700.00	\$700.00	\$600.00	\$600.00
327	642	EDGE LINE, 4" , TYPE 1	1.99	MILE	\$900.00	\$ 1,791.00	\$800.00	\$1,592.00	\$800.00	\$1,592.00
328	642	CENTER LINE, TYPE 1	0.99	MILE	\$1,200.00	\$ 1,188.00	\$1,200.00	\$1,188.00	\$1,200.00	\$1,188.00
329	642	STOP LINE, TYPE 1	22	FOOT	\$10.00	\$ 220.00	\$10.00	\$220.00	\$10.00	\$220.00
330	659	SEEDING AND MULCHING, AS PER PLAN	1,495	SY	\$1.50	\$ 2,242.50	\$2.00	\$2,990.00	\$2.00	\$2,990.00
331	659	COMMERCIAL FERTILIZER	0.15	TON	\$1,000.00	\$ 150.00	\$600.00	\$90.00	\$600.00	\$90.00
332	659	REPAIR SEEDING AND MULCHING, AS PER PLAN	250	SY	\$3.00	\$ 750.00	\$2.00	\$500.00	\$2.00	\$500.00
333	659	WATER	8	MGAL	\$25.00	\$ 200.00	\$1.00	\$8.00	\$1.00	\$8.00
334	SPEC	THINLAY ASPHALT CONCRETE, TYPE MED (DRIVEWAYS)	7	CY	\$750.00	\$ 5,250.00	\$1,000.00	\$7,000.00	\$1,500.00	\$10,500.00
335	SPEC	MAILBOX SUPPORT, TYPE 1 OR TYPE 2	5	EACH	\$150.00	\$ 750.00	\$250.00	\$1,250.00	\$160.00	\$800.00
		NORTH CURTICE ROAD TOTAL:				\$ 403,500.25		\$358,111.50		\$382,726.20
		PROJECT TOTAL				\$ 910,730.50		\$814,190.60		\$867,023.30

## **BID TAB**

PROJECT: 2020 ANNUAL RESURFACING PROJECT, PHASE 1

BID OPEN: MARCH 12, 2020

COMPLETION DATE: SEPTEMBER 30, 2020

		DATE SELVENDER SO, 2020					THE SHELLY COMPANY 1700 FOSTORIA AVE FINDLAY, OH 45840		CRESTLINE PAVING & E 1913 NEBRASKA AVI TOLEDO, OH 43607	
REF. NO.	ITEM NO.	DESCRIPTION	ESTIMATED QUANTITY	UNIT	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
		CORDUROY ROAD								
100	202	WEARING COURSE REMOVED	20	SY	\$ 20.00	\$ 400.00	\$10.00	\$200.00	\$30.00	\$600.00
101	203	EMBANKMENT, AS PER PLAN	175	CY	\$ 90.00	\$ 15,750.00	\$70.00	\$12,250.00	\$65.00	\$11,375.00
102	204	PROOF ROLLING	2	HOUR	\$ 150.00	\$ 300.00	\$100.00	\$200.00	\$88.00	\$176.00
103	204	EXCAVATION OF SUBGRADE	15	CY	\$ 40.00	\$ 600.00	\$45.00	\$675.00	\$45.00	\$675.00
104	204	GRANULAR MATERIAL, TYPE C	15	CY	\$ 60.00	\$ 900.00	\$65.00	\$975.00	\$55.00	\$825.00
105	253	PAVEMENT REPAIR (12"-301 ASPHALT CONCRETE BASE, PG 64-22)	90	SY	\$ 125.00	\$ 11,250.00	\$335.00	\$30,150.00	\$150.00	\$13,500.00
106	254	PAVEMENT PLANING, ASPHALT CONCRETE	16,188	SY	\$ 1.50	\$ 24,282.00	\$1.25	\$20,235.00	\$2.10	\$33,994.80
107	407	TACK COAT	2,297	GAL	\$ 2.25	\$ 5,168.25	\$2.00	\$4,594.00	\$2.85	\$6,546.45
108	410	TRAFFIC COMPACTED SURFACE, TYPE A OR B	5	CY	\$ 60.00	\$ 300.00	\$60.00	\$300.00	\$70.00	\$350.00
109	411	STABILIZED CRUSHED AGGREGATE	3	CY	\$ 150.00	\$ 450.00	\$110.00	\$330.00	\$175.00	\$525.00
110	441	ASPHALT CONCRETE INTERMEDIATE COURSE, TYPE 2, (448)	826	CY	\$ 148.00	\$ 122,248.00	\$148.00	\$122,248.00	\$150.00	\$123,900.00
111	441	ASPHALT CONCRETE SURFACE COURSE, TYPE 1, (448) PG 64-22	574	CY	\$ 165.00	\$ 94,710.00	\$165.00	\$94,710.00	\$181.00	\$103,894.00
112	614	MAINTAINING TRAFFIC	1	LS	\$ 15,000.00	\$ 15,000.00	\$12,000.00	\$12,000.00	\$3,600.00	\$3,600.00
113	614	WORK ZONE MARKING SIGN, AS PER PLAN	4	EACH	\$ 125.00	\$ 500.00	\$125.00	\$500.00	\$85.00	\$340.00
114	614	ASPHALT CONCRETE FOR MAINTAINING TRAFFIC	2	CY	\$ 300.00	\$ 600.00	\$260.00	\$520.00	\$400.00	\$800.00
115	614	WORK ZONE CENTER LINE, CLASS II, 642 PAINT (ON PLANED SURFACE)	0.98	MILE	\$ 800.00	\$ 784.00	\$375.00	\$367.50	\$1,550.00	\$1,519.00
116	617	COMPACTED AGGREGATE	10	CY	\$ 150.00	\$ 1,500.00	\$90.00	\$900.00	\$115.00	\$1,150.00
117	621	RAISED PAVEMENT MARKER REMOVED	60	EACH	\$ 20.00	\$ 1,200.00	\$9.00	\$540.00	\$11.00	\$660.00

							THE SHELLY COMPANY 1700 FOSTORIA AVE FINDLAY, OH 45840		1913 NEBRASKA AVE TOLEDO, OH 43607		
REF. NO.	ITEM NO.	DESCRIPTION	ESTIMATED QUANTITY	UNIT	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	
118	623	MONUMENT ASSEMBLY, TYPE 1 OR TYPE 2	2	EACH	\$ 1,000.00	\$ 2,000.00	\$850.00	\$1,700.00	\$900.00	\$1,800.00	
119	624	MOBILIZATION	1	LS	\$ 10,000.00	\$ 10,000.00	\$5,000.00	\$5,000.00	\$2,500.00	\$2,500.00	
120	630	REMOVAL, STORAGE, OR RE-ERECTION OF SIGNS AND SUPPORTS	1	LS	\$ 500.00	\$ 500.00	\$950.00	\$950.00	\$200.00	\$200.00	
121	642	EDGE LINE, 4", TYPE 1	1.97	MILE	\$ 900.00	\$ 1,773.00	\$800.00	\$1,576.00	\$700.00	\$1,379.00	
122	642	CENTER LINE, TYPE 1	0.98	MILE	\$ 1,200.00	\$ 1,176.00	\$1,200.00	\$1,176.00	\$1,500.00	\$1,470.00	
123	659	SEEDING AND MULCHING, AS PER PLAN	3,152	SY	\$ 1.50	\$ 4,728.00	\$2.00	\$6,304.00	\$1.75	\$5,516.00	
124	659	COMMERCIAL FERTILIZER	0.32	TON	\$ 1,000.00	\$ 320.00	\$600.00	\$192.00	\$600.00	\$192.00	
125	659	REPAIR SEEDING AND MULCHING, AS PER PLAN	500	SY	\$ 3.00	\$ 1,500.00	\$2.00	\$1,000.00	\$1.75	\$875.00	
126	659	WATER	17	MGAL	\$ 25.00	\$ 425.00	\$1.00	\$17.00	\$1.00	\$17.00	
127	SPEC	THINLAY ASPHALT CONCRETE, TYPE MED (DRIVEWAYS)	13	CY	\$ 750.00	\$ 9,750.00	\$850.00	\$11,050.00	\$600.00	\$7,800.00	
128	SPEC	MAILBOX SUPPORT, TYPE 1 OR TYPE 2	10	EACH	\$ 150.00	\$ 1,500.00	\$150.00	\$1,500.00	\$175.00	\$1,750.00	
		CORDUROY ROAD TOTAL:				\$ 329,614.25		\$332,159.50		\$327,929.25	
		DECANT ROAD									
200	202	PAVEMENT REMOVED	10	SY	\$ 30.00	\$ 300.00	\$20.00	\$200.00	\$95.00	\$950.00	
201	202	WEARING COURSE REMOVED	20	SY	\$ 20.00	\$ 400.00	\$10.00	\$200.00	\$35.00	\$700.00	
202	203	EMBANKMENT, AS PER PLAN	20	CY	\$ 90.00	\$ 1,800.00	\$70.00	\$1,400.00	\$65.00	\$1,300.00	
203	204	SUBGRADE COMPACTION	10	SY	\$ 10.00	\$ 100.00	\$17.50	\$175.00	\$20.00	\$200.00	
204	204	EXCAVATION OF SUBGRADE	20	CY	\$ 40.00	\$ 800.00	\$45.00	\$900.00	\$45.00	\$900.00	
205	204	GRANULAR MATERIAL, TYPE C	20	CY	\$ 60.00	\$ 1,200.00	\$65.00	\$1,300.00	\$60.00	\$1,200.00	
206	204	PROOF ROLLING	2	HOUR	\$ 150.00	\$ 300.00	\$100.00	\$200.00	\$88.00	\$176.00	
207	209	PREPARING SUBGRADE FOR SHOULDER PAVING	1.02	MILE	\$ 1,500.00	\$ 1,530.00	\$850.00	\$867.00	\$4,900.00	\$4,998.00	

							THE SHELLY 1700 FOST FINDLAY,	ORIA AVE	1913 NEBRASKA AVE TOLEDO, OH 43607		
REF. NO.	NO.	DESCRIPTION	ESTIMATED QUANTITY	UNIT	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	
208	253	PAVEMENT REPAIR (6" - 301 ASPHALT CONC. BASE, PG 64-22)	1,095	SY	\$ 45.00	\$ 49,275.00	\$30.00	\$32,850.00	\$49.00	\$53,655.00	
209	254	PAVEMENT PLANING, ASPHALT CONCRETE	5,897	SY	\$ 1.50	\$ 8,845.50	\$1.25	\$7,371.25	\$2.30	\$13,563.10	
210	407	TACK COAT	786	GAL	\$ 2.25	\$ 1,768.50	\$2.00	\$1,572.00	\$2.85	\$2,240.10	
211	410	TRAFFIC COMPACTED SURFACE, TYPE A OR B	5	CY	\$ 60.00	\$ 300.00	\$60.00	\$300.00	\$40.00	\$200.00	
212	411	STABILIZED CRUSHED AGGREGATE	12	CY	\$ 100.00	\$ 1,200.00	\$110.00	\$1,320.00	\$150.00	\$1,800.00	
213	441	ASPHALT CONCRETE INTERMEDIATE COURSE, TYPE 2, (448)	285	CY	\$ 148.00	\$ 42,180.00	\$148.00	\$42,180.00	\$151.00	\$43,035.00	
214	441	ASPHALT CONCRETE SURFACE COURSE, TYPE 1, (448) PG 64-22	217	CY	\$ 165.00	\$ 35,805.00	\$165.00	\$35,805.00	\$178.00	\$38,626.00	
215	452	6" NON-REINFORCED CONCRETE PAVEMENT, CLASS QC MS	10	SY	\$ 150.00	\$ 1,500.00	\$150.00	\$1,500.00	\$125.00	\$1,250.00	
216	614	MAINTAINING TRAFFIC	1	LS	\$ 8,000.00	\$ 8,000.00	\$7,000.00	\$7,000.00	\$2,500.00	\$2,500.00	
217	614	WORK ZONE MARKING SIGN, AS PER PLAN	4	EACH	\$ 125.00	\$ 500.00	\$125.00	\$500.00	\$85.00	\$340.00	
218	614	ASPHALT CONCRETE FOR MAINTAINING TRAFFIC	2	CY	\$300.00	\$ 600.00	\$260.00	\$520.00	\$350.00	\$700.00	
219	614	WORK ZONE CENTER LINE, CLASS II, 642 PAINT (ON PLANED SURFACE)	0.51	MILE	\$1,200.00	\$ 612.00	\$375.00	\$191.25	\$3,000.00	\$1,530.00	
220	617	COMPACTED AGGREGATE	120	CY	\$75.00	\$ 9,000.00	\$70.00	\$8,400.00	\$95.00	\$11,400.00	
221	623	MONUMENT ASSEMBLY, TYPE 1 OR TYPE 2	1	EACH	\$1,000.00	\$ 1,000.00	\$850.00	\$850.00	\$900.00	\$900.00	
222	624	MOBILIZATION	1	LS	\$4,000.00	\$ 4,000.00	\$5,000.00	\$5,000.00	\$3,000.00	\$3,000.00	
223	630	REMOVAL, STORAGE, OR RE-ERECTION OF SIGNS AND SUPPORTS	1	LS	\$500.00	\$ 500.00	\$950.00	\$950.00	\$500.00	\$500.00	
224	642	EDGE LINE, 4", TYPE 1	1.02	MILE	\$900.00	\$ 918.00	\$800.00	\$816.00	\$1,400.00	\$1,428.00	
225	642	CENTER LINE, TYPE 1	0.51	MILE	\$1,200.00	\$ 612.00	\$1,200.00	\$612.00	\$3,000.00	\$1,530.00	
226	659	SEEDING AND MULCHING, AS PER PLAN	200	SY	\$5.00	\$ 1,000.00	\$2.00	\$400.00	\$1.75	\$350.00	
227	659	COMMERCIAL FERTILIZER	0.02	TON	\$1,000.00	\$ 20.00	\$600.00	\$12.00	\$600.00	\$12.00	
228	659	REPAIR SEEDING AND MULCHING, AS PER PLAN	50	SY	\$10.00	\$ 500.00	\$2.00	\$100.00	\$1.75	\$87.50	
229	659	WATER	1	MGAL	\$50.00	\$ 50.00	\$1.00	\$1.00	\$1.00	\$1.00	
230	SPEC	THINLAY ASPHALT CONCRETE, TYPE MED (DRIVEWAYS)	3	CY	\$750.00	\$ 2,250.00	\$850.00	\$2,550.00	\$600.00	\$1,800.00	

							THE SHELLY 1700 FOST FINDLAY,	ORIA AVE	CRESTLINE PAVING & EXC. 1913 NEBRASKA AVE TOLEDO, OH 43607	
REF. NO.	ITEM NO.	DESCRIPTION	ESTIMATED QUANTITY	UNIT	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
231	SPEC	MAILBOX SUPPORT, TYPE 1 OR TYPE 2	5	EACH	\$150.00	\$ 750.00	\$150.00	\$750.00	\$175.00	\$875.00
		DECANT ROAD TOTAL:				\$ 177,616.00		\$156,792.50		\$191,746.70
		NORTH CURTICE ROAD								
300	202	PAVEMENT REMOVED	18	SY	\$30.00	\$ 540.00	\$20.00	\$360.00	\$85.00	\$1,530.00
301	202	WEARING COURSE REMOVED	112	SY	\$20.00	\$ 2,240.00	\$10.00	\$1,120.00	\$12.00	\$1,344.00
302	202	MONUMENT BOX REMOVED	1	EACH	\$250.00	\$ 250.00	\$400.00	\$400.00	\$217.00	\$217.00
303	203	EMBANKMENT, AS PER PLAN	65	CY	\$90.00	\$ 5,850.00	\$70.00	\$4,550.00	\$65.00	\$4,225.00
304	204	SUBGRADE COMPACTION	18	SY	\$10.00	\$ 180.00	\$17.50	\$315.00	\$25.00	\$450.00
305	204	EXCAVATION OF SUBGRADE	15	CY	\$40.00	\$ 600.00	\$45.00	\$675.00	\$45.00	\$675.00
306	204	GRANULAR MATERIAL, TYPE C	15	CY	\$60.00	\$ 900.00	\$65.00	\$975.00	\$55.00	\$825.00
307	204	PROOF ROLLING	2	HOUR	\$150.00	\$ 300.00	\$100.00	\$200.00	\$88.00	\$176.00
308	253	PAVEMENT REPAIR (6" - 301 ASPHALT CONC. BASE, PG 64-22)	180	SY	\$45.00	\$ 8,100.00	\$55.00	\$9,900.00	\$57.00	\$10,260.00
309	254	PAVEMENT PLANING, ASPHALT CONCRETE	21,152	SY	\$1.50	\$ 31,728.00	\$1.25	\$26,440.00	\$2.25	\$47,592.00
310	407	TACK COAT	2,975	GAL	\$2.25	\$ 6,693.75	\$2.00	\$5,950.00	\$2.85	\$8,478.75
311	410	TRAFFIC COMPACTED SURFACE, TYPE A OR B	5	CY	\$60.00	\$ 300.00	\$60.00	\$300.00	\$40.00	\$200.00
312	411	STABILIZED CRUSHED AGGREGATE	5	CY	\$150.00	\$ 750.00	\$110.00	\$550.00	\$150.00	\$750.00
313	441	ASPHALT CONCRETE INTERMEDIATE COURSE, TYPE 2, (448)	1,080	CY	\$148.00	\$ 159,840.00	\$148.00	\$159,840.00	\$151.00	\$163,080.00
314	441	ASPHALT CONCRETE SURFACE COURSE, TYPE 1, (448) PG 64-22	749	CY	\$165.00	\$ 123,585.00	\$165.00	\$123,585.00	\$182.00	\$136,318.00
315	452	6" NON-REINFORCED CONCRETE PAVEMENT, CLASS QC MS	18	SY	\$150.00	\$ 2,700.00	\$150.00	\$2,700.00	\$125.00	\$2,250.00
316	611	MANHOLE ADJUSTED TO GRADE	7	EACH	\$1,000.00	\$ 7,000.00	\$1,100.00	\$7,700.00	\$1,200.00	\$8,400.00
317	614	MAINTAINING TRAFFIC	1	LS	\$15,000.00	\$ 15,000.00	\$14,000.00	\$14,000.00	\$4,000.00	\$4,000.00

							THE SHELLY 1700 FOST FINDLAY,	ORIA AVE	CRESTLINE PA 1913 NEBR TOLEDO, C	ASKA AVE
REF. NO.	ITEM NO.	DESCRIPTION	ESTIMATED QUANTITY	UNIT	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE	UNIT PRICE	TOTAL PRICE
318	614	WORK ZONE MARKING SIGN, AS PER PLAN	4	EACH	\$125.00	\$ 500.00	\$125.00	\$500.00	\$85.00	\$340.00
319	614	ASPHALT CONCRETE FOR MAINTAINING TRAFFIC	2	CY	\$300.00	\$ 600.00	\$260.00	\$520.00	\$350.00	\$700.00
320	614	WORK ZONE CENTER LINE, CLASS II, 642 PAINT (ON PLANED SURFACE)	0.99	MILE	\$800.00	\$ 792.00	\$375.00	\$371.25	\$1,500.00	\$1,485.00
321	617	COMPACTED AGGREGATE	122	CY	\$75.00	\$ 9,150.00	\$60.00	\$7,320.00	\$95.00	\$11,590.00
322	621	RAISED PAVEMENT MARKER REMOVED	68	EACH	\$20.00	\$ 1,360.00	\$9.00	\$612.00	\$12.00	\$816.00
323	623	MONUMENT ASSEMBLY, TYPE 1 OR TYPE 2	1	EACH	\$1,000.00	\$ 1,000.00	\$850.00	\$850.00	\$900.00	\$900.00
324	624	MOBILIZATION	1	LS	\$10,000.00	\$ 10,000.00	\$6,000.00	\$6,000.00	\$2,000.00	\$2,000.00
325	630	REMOVAL, STORAGE, OR RE-ERECTION OF SIGNS AND SUPPORTS	1	LS	\$500.00	\$ 500.00	\$950.00	\$950.00	\$500.00	\$500.00
326	638	VALVE BOX ADJUSTED TO GRADE	1	EACH	\$500.00	\$ 500.00	\$800.00	\$800.00	\$750.00	\$750.00
327	642	EDGE LINE, 4" , TYPE 1	1.99	MILE	\$900.00	\$ 1,791.00	\$800.00	\$1,592.00	\$700.00	\$1,393.00
328	642	CENTER LINE, TYPE 1	0.99	MILE	\$1,200.00	\$ 1,188.00	\$1,200.00	\$1,188.00	\$1,500.00	\$1,485.00
329	642	STOP LINE, TYPE 1	22	FOOT	\$10.00	\$ 220.00	\$10.00	\$220.00	\$4.00	\$88.00
330	659	SEEDING AND MULCHING, AS PER PLAN	1,495	SY	\$1.50	\$ 2,242.50	\$2.00	\$2,990.00	\$1.75	\$2,616.25
331	659	COMMERCIAL FERTILIZER	0.15	TON	\$1,000.00	\$ 150.00	\$600.00	\$90.00	\$600.00	\$90.00
332	659	REPAIR SEEDING AND MULCHING, AS PER PLAN	250	SY	\$3.00	\$ 750.00	\$2.00	\$500.00	\$1.75	\$437.50
333	659	WATER	8	MGAL	\$25.00	\$ 200.00	\$1.00	\$8.00	\$1.00	\$8.00
334	SPEC	THINLAY ASPHALT CONCRETE, TYPE MED (DRIVEWAYS)	7	CY	\$750.00	\$ 5,250.00	\$850.00	\$5,950.00	\$600.00	\$4,200.00
335	SPEC	MAILBOX SUPPORT, TYPE 1 OR TYPE 2	5	EACH	\$150.00	\$ 750.00	\$150.00	\$750.00	\$175.00	\$875.00
		NORTH CURTICE ROAD TOTAL:				\$ 403,500.25		\$390,771.25		\$421,044.50
		PROJECT TOTAL				\$ 910,730.50		\$879,723.25		\$940,720.45